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Crochet Flower Appliques

By Yarnspirations, ©2018 The Crochet Crowd

Size
Varies Sizes

(

Hook: 3.75 mm/ F) (

Revision 1
March 24, 2021

Yarn
Patons Grace, 50 g/1.75 oz, 125 m/136 yds

These are little stash busting applique flowers.
Mercercized cotton is chosen so it can be applied
to something else and wash with ease. Add to a
jacket, dress, scarf or hat for the added finishing
touches.

Abbreviations
Approx = Approximate(ly)
Beg = Begin(ing)
Ch = Chain(s)
Dc = Double Crochet
Hdc = Half Double Crochet
Rep = Repeat
RS = Right Side
Sc = Single Crochet
Scfp = Single Crochet Front Post
Sl st = Slip Stitch
St(s) = Stitch(es)
Standing Sc = Form slip knot and insert onto
the hook. Insert hook into st, yoh and pull loop
through, yoh through 2 loops.
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Small Flower Applique
This flower is approx 2.5” [6 cm] across.
**Ch 6 and join with sl st to beg ch to form ring.

1st rnd: (RS). Ch 1, 2 scinring. *Ch 4, 3 scin ring.
Rep from * 4 more times. Ch 4, 1 sc in ring. Join
with sl st to beg sc. 6 ch 4 loops.

2nd rnd: Sl st to next st and to next ch 4 loop. *(1
sc, 1 hdc, 4 dc, 1 hdc, 1 sc) in next ch 4 loop. Miss
next sc, sl st in next sc. Rep from * 5 more times.
Join with sl st to beg sc. Fasten off.**

Smiley Flower Applique

This flower is approx 2.5” [6 cm] across. The edges
curl up so it's the same dia at the small applique
flowers.

Follow ** to ** on small flower applique.

Next rnd: With new colour, join with standing sc to
the first back loop of the sc in a petal. 1 sc in each
back loop st remaining in petal. 1 scfp around 3 sc
posts in 1st round. *1 sc in each back loop for next
petal. 1 scfp around 3 sc posts in 1st round. Rep
from * 4 more times. Join with sl st to beg standing
sc. Fasten off.
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Attaching
Large Flower Applique

Using same colour and yarn as the flower, sew onto

This flower is approx 3.5” [9 cm] across. object of your choice. In some cases, hot glue onto
things like wreaths would be easy to do as add on
Ch 8 and join with sl st to beg ch to form ring. touches.

1st rnd: RS. Ch 3 (counts as dc), 1 dc in ring. *Ch
6, 3dcinring. Rep from * 5 times. Ch 6. 1 scin ring.
Join with sl st to top of beg ch 3. 6 ch 6 loops.

2nd rnd: Sl st to next st and to next ch 6 loop. *(1
sc, 1 hdc, 7 dc, 1 hdc, 1 sc) in next ch 6 loop. Miss
next dc, sl st in next dc. Rep from * 5 more times.
Join with sl st to beg sc. Fasten off.




